T

YR AT el TR T4 T 4 IR e & TR T |

Without opening the Paper seal take out Answer Sheet from this side.

q3eT T 99 ;2023

DEO Y -feqehT

—_— o T G ae-gieasT gt
T & TR o
w=t A

TR ATEH U STRREVE | (-2 | SIEaA
COMPUTER SCIENCE & GENERAL STUDIES RELATED TO UTTARAKHAND

0T : 3:00 T Time : 3:00 Hours
qurtes : 200 Maximum Marks : 200

A

10.

11.

12.

13.

14.

Tl % W AV U A T R M Emm A g o |
e Ry

FIA-REqHT & FR U R ATHATE & Afdies 8 7 fod |

T Tt oo ¥ fomelt e <t RIS FgoT a1 e e oY A TR o SBIS ot forl TR § ¥ ST SRR Rl AFS FAT SRAT |
|t vl % S G © |

seefl o ST, fava-ae T ae-gfeasdt f @S 1 sidT OMR Answer Sheet & ffde wiaw & ad@t-agt #, s
JW-T=% T GodIich Tl fehel & |

swell 76 w1 Rg AE-gRETE (FHaie) & A A A T g8t W @ Fad ST R | Jew § 3@ eg afen ste Juasy 7@
FEt ST | st} we-gfea & sk 6 wi % sifafes g9 ot 7 fad |

=g YeA-gfea § 200 U €, TSEH 9011 (Freag) § 60 W, WRT-11 (FPet @sd) § 90 U T HET-1 (STEUS
T T TSREA) H 50 U9 § | WHh U9 o IR Sehfodqeh SO, WS & A (a), (b), (¢) T (d) T W € | 3 AR F & Faa
TF & TEl IR ¥ | O SR W o e a1 wee Shua oea €, SW-uFE (S.UH.AR, SER §fie) H S S1ER 9T 99 I el
AT i S @Ee ¥ & R wer /AT |

o-gfeceht H 3ifehd it T e € 3R W Ue % THI 3k € | AR TSI SR WEl T Sl o SIER S T S |

TN GRT AT hl T aTell T&qi-ss Fehf i GIesii § suleaeh qeareh (Negative Marking) Tgfd STl ST | sreref
TR Y% UeA 2 f5u U ea SR & forw an sivredf R us vee % us 9 e W e & foe (I for o sw A w s
e B A 9 /), 99 U & forg feiia siwl o1 uw-aE e <ve & 9§ FIE T | IS WEY YT 3hi & TR
FA VTR H | g™ A |

AT g1 GHY SR haol ALUA.R. IAL-951% (OMR Answer Sheet) TR & o simn sifam 2 | . uo. ok, SwR-9=i& &
srfafeaa s gl W fean o SR 7 9 e |

HOH.AR. SR-99% R F @ & qd s {7 T a9 seul & aeeries ug o | LR, SW-TFd # 9ifed
IS T AW GRT OET W B 8§ G R S e € |

AR, SR-9 i Ife@t (3 vy, watea wfa wa sl wfa) & @ | when awfa & Swma svefi o LR, SwR-
= I A U T FEied Wid sd@s (Invigilator) HT gEETA S % IO @ e BIE, IEm i fRafa d s gra
TramTgaR wraTE B SISl | SR, SWR-TEE 6 st wi, sl s /e o ST aed € |

IfE 39 37 e H e forn B, 36 USS W AUAT SR Sifhd R fedT © R SIUH.AR, IW-UFE W aifed geme
W G €, T q9 IR TAIET H, A qh ATIR! Fe-IEqwT Gie H el wel S |

31.TA.AR, IR-F (O.M.R. Answer Sheet) 1 HeTh 31.TA.HAR. AR fie W 31:eff gr 3ifehd TRIST #E (A, B, C, D)% 3R
wR & TR ST |

g - E[F?%m (Question Booklet) # ¥ S1.T#.3R. SWR-W% (O.M.R. Answer Sheet) fehTeid & Ue=Tq 1.TH.IR, TER-TF% T
9T-GfEqehT AT TF SR- %ot % TS 1S (A, B, C, D) i ufafy araemigds &t |uﬁswwﬁaﬁﬂﬁﬁaﬁ% ar
e foru el W rEER e |

| o T TEwAE-IRE R AEd | |

HeEq ;AR Giem TR g Wi 9K 3@ o % wer-gieme & wft 39 woli-wife s9 ge ¥ | af ww-gfer s @

B o B o A, @ smEs A feereR SHt @il i g we-gite W R o |



10.

11.

12.

13.

14.

15.

PART-I
Computer Science
Which of the following is not a type of printer ?
(a) Line Printer  (b) Impact Printer (c) Drum Printer (d) Word Printer

What is the decimal equivalent of the binary number 10101 ?

(a) 17 (b) 37 (c) 21 (d) 23
Which of the following option is not used for communication within network ?
(a) TCP/IP (b) HTML (c) HTTP (d) SMTP
Which of the following error can a compiler check ?

(a) Syntax error (b) Logical error

(c) Both Logical and Syntax error (d) Compiler cannot check errors
Which network topology requires a central controller or hub ?

(a) Star (b) Mesh (c) Ring (d) Bus
Which of the following computer language is written in binary code only ?

(a) PASCAL (b) Machine Language (c) C (d C#
Communication between a computer and a keyboard involves transmission.
(a) Automatic (b) Half Duplex (c) Full Duplex (d) Simplex
A set of rules that governs data communication is called :

(a) Protocol (b) Standard (c) RFC (d) Server
Which of the following is not a type of memory ?

(a) CACHE (b) RAM (c) CATCH (d) EPROM

Which of the following protocol is used to transfer E-mail messages from one machine to
another ?
(a) FTP (b) SMTP (c) SNMPP (d) RPCC

In multimedia the delay occurring during the playback of a stream is termed as :
(a) Stream delay (b) Playback delay  (c) Jitter (d) Event delay

Which of the following is used to set the starting and ending point of any animation ?
(a) Key frame (b) Graphic symbol (c) Seens (d) Blank frame

The purpose of Cache memory is to :

(a) Increase storage

(b) Decrease storage cost

(c) Minimize Memory-processor speed mismatch
(d) None of these

Bus topology is a
(a) Multi Point Connection (b) Point to Point Connection
(c) Dedicated Point to Point Connection (d) None of these

The correct order of first four layer in OSI model from bottom to top are :
(a) Physical, Data Link, Transport, Network
(b) Network, Transport, Data Link, Physical
(c) Physical, Network, Data Link, Transport
(d) Physical, Data Link, Network, Transport
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16. Each process is assigned a time interval which is called

(a) Time gap (b) Time quantum (¢) Time Interval slot (d) Time slot gap
17. Which of the following is a volatile memory ?

(a) ROM (b) RAM (c) Hard Disk (d) Flash Memory
18. Which of the following memory reprogrammed with electronic signal ?

(a) EPROMM (b) PROMM (c) EEPROM (d) ROM
19. MAC address is bits long.

(a) 24 (b) 48 (c) 124 (d) 64

20. The process of dealing with dedicated input output devices is called
(a) Daemon (b) Spooling (c) Interleaving (d) None of these

21. In OSInetwork architecture which one of the following performs routing ?
(a) Data Link layer (b) Network layer (c) Transportlayer (d) Presentation Layer

22. What is the objective of Primary key in a database ?
(a) To unlock a database (b) To make available Data Map
(c) To identify a record with unique key (d) None of these

23.  Which of the following command is used to remove a directory ?
(a) md (b) rd (c) cd (d) nd

24. Which of the following is exclusively a sequential access storage device ?

(a) Magnetic Tape (b) Hard Disk (c) Floppy Disk (d) DVD
25. How many bytes does 8 kilobytes represent ?

(a) 1024 (b) 4096 (c) 512 (d) 8192

26. Temporary storage area that compensates for differences in data rate and data flow between
devices is known as .
(a) Bus (b) Channel (c) Modem (d) Buffer

27. FTP stands for
(a) Folder Text Protocol (b) File Transfer Push
(c) Fixed Terminology Placement (d) File Transfer Protocol

28. In colour monitor, primary additive colours are :
(a) Red, Green and Blue (b) Cyan, Magenta and Yellow
(c¢) Red, Green and Yellow (d) Blue, Yellow and Green

29.  Which of the SQL command is used to change the structure of a table after it has been created ?
(a) UPDATE (b) ALTER (c) DROP (d) TRUNCATE

30. Which of the following protocol is used for remote login in internet ?
(a) FTP (b) UDP (c) TELNET (d) RARP
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46.

Which of the following cable consists of two insulated copper wires twisted together ?
(a) Co-axial (b) Fiber-optic (c) Twisted pair (d) Cat-6 cable

Which of the following of a computer system, manages and coordinates the operation of all
the components of the computer ?

(a) Input Unit (b) Output Unit (¢) Control Unit (d) Arithmetic Unit
Each tuple is divided into fields called in relational schema.

(a) Queries (b) Relation (c) Attributes (d) None of these
In Operating System a process in ready state waits for allocation of which of the following ?
(a) Memory (b) Processor (c) /O (d) None of these
The chip that contains instruction for starting the computer is :

(a) Motherboard (b) RAM (c) ROM (d) Hard Disk
Which of the following is a secondary memory device ?

(a) ALU (b) CPU (c) Mouse (d) Magnetic Disk
MPEG video is :

(a) lossy and asymmetric (b) lossy and symmetric

(c) lossless and asymmetric (d) lossless and symmetric

Printer image quality is measured in —

(a) ppm (page per minute) (b) cps (character per second)

(c) dpl (dots per line) (d) dpi (dots per inch)

Each instruction in the instruction set is expressed in :

(a) Micro code (b) Mini code (¢) Address code (d) Macro code
The address bus connects only the

(a) CPU and ROM (b) CPU and RAM

(c) ALU and RAM (d) CPU and Motherboard

A source program is directly converted to .exe file by which of the following ?
(a) Compiler (b) Interpreter (c) Assembler (d) Linker

Which one of the following is a software package used for creating, retrieving and
maintaining records in a database ?
(a) FMS (b) DASD (c) DBMS (d) EMMS

Which generation of computer was designed using vacuum tube ?

(a) First (b) Second (¢) Third (d) Fourth

A video consists of a sequence of .

(a) Frames (b) Signals (c) Packets (d) Slots
Moving Picture Experts Group (MPEG) is used to compress which of the following ?
(a) Program (b) Images (c) Audio (d) Video

AVI (Audio-Video Interleave) format was developed by
(a) IBM (b) Apple (c) Microsoft (d) Macromedia
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47. Loader is a system software which :
(a) Links subroutines with System Library.
(b) Converts program into Assembly Language.
(c) Places ‘.exe’ file into Main Memory for execution.
(d) Translates source program in phased manner.

48. OSI model consists of

(a) 4 layers (b) 7 layers (c) 6 layers (d) 5 layers
49. What is the full form of ‘bee’ in e-mail ?

(a) Behind Carbon Copy (b) Blank Carbon Copy

(c) Blind Carbon Copy (d) Blended Carbon Copy

50. Which clause of SQL is used with ‘select’ statement to sort the result ?
(a) Order by (b) Sort by (c) Arrange by (d) Ascend by

51. Which type of SQL is used for creating database elements ?
(a) DML (b) DDL (c) DCL (d) DMC
52. Which of the following is not a type of join in RDBMS ?
(a) Selfjoin (b) Natural join (c) Between join (d) Inner join

53. Which of the following is not a type of Network ?
(a) LAN (b) VAN (c) MAN (d) WAN

54. Difference between highest and lowest frequencies of a transmission channel is known as —
(a) baud (b) bandwidth (c) data loss (d) modulation

55. The size of Unicode is
(a) 8 bits (b) 4 bits (c) 16 bits (d) 32 bits

56. The refresh rate of the monitor is measured in —
(a) Pixels (b) dpi (c) Hertz (d) inch per second

57. Size of IPv6 is —
(a) 32 bits (b) 64 bits (c) 128 bits (d) 256 bits

58. Which of the following is not an operator of relational algebra ?
(a) Union (b) Cartesian product (c) Equi Join (d) Square
59. Which of the following key is used to implement referential integrity constraint ?

(a) Primary Key (b) Unique Key (¢) Secondary Key (d) Foreign Key

60. Which DOS commands will display all files whose name begin with ‘CH’ in a folder ?
(a) dir CH*-txt (b) dir CH*-* (c) dir CH## (d) dir CH*-$
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PART-II

Computer Science
Which of the following button is used to arrange data in ascending order in a table in
MS-Access ?
(a) Sort Button (b) Filter Button (c) Layout View (d) Design View

Which of the following is used to modify the design of a table in MS-Access ?
(a) Design View (b) Datasheet View (c¢) Form View (d) Report View

Which feature in Windows Operating System allows you to restore your computer to a
previous state ?

(a) System Restore (b) Backup & Restore

(c) Recovery Console (d) System Image Backup

Which of the following tools is used to free up disk space in Windows ?

(a) Disk close up (b) Disk clean up

(c) System configuration (d) System file checker

Which of the following keys are used to restart computer with Windows Operating System ?
(a) Alt+ Del (b) Alt+ Ctrl (¢) Alt+ Ctrl+Del (d) Ctrl + Del

Which of the following key is used to show MS PowerPoint presentation from the first slide ?
(a) F5 (b) F3 (c) F2 (d) F4

Which of the following is used to request services from operating system ?

(a) System call (b) Function call (c) RPC (d) None of these

Which of the following shortcut key is used to replace text in the document using
MS-PowerPoint 2007 ?

(a) Ctrl+H (b) Ctrl+F (c) Ctrl+B (d) Ctrl+C

Which of the following is used to make a given string bold ?

(a) Ctrl+C (b) Cul+V (c) Cul+B (d) Cul+1

Which command is used to save a document ?

(a) Ctrl+V (b) Ctrl +S (c) Cul+P (d) Cul+C

Which of the following is used to show MS-PowerPoint slide show from the current slide ?
(a) Shift+F5 (b) Ctrl +F5 (c) Shift+F4 (d) Cul+F4

Which of the following acts as an interface between user of computer system and computer
hardware ?

(a) Compiler (b) Operating System (c¢) Loader (d) Linker
Ctrl + C command is used in MS-Word for

(a) Copying (b) Transferring (c) Deleting (d) Searching
Command Ctrl + V in MS-Word is used for

(a) Paste (b) Copy (c) Delete (d) Cut
Which command is used to print a document ?

(a) Ctrl+V (b) Ctrl+C (c) Ctrl+P (d) Ctrl+B
In MS Access, new table is displayed in by default.

(a) Data Sheet View (b) Design View

(c) Report View (d) Form View

In a database system which object stores information about related data ?

(a) Table (b) Document (c) Worksheet (d) Slide
Which of the following software is used to access internet ?

(a) Operating system (b) DBMS

(c) Web Browser

(d) Compiler
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94.
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96.

97.

On which toolbar can you find format painter tool ?

(a) Formatting (b) Picture (c) Drawing (d) Standard
What is the extension of Word files ?

(a) .dot (b) .txtt (c) .fil (d) .doc

Which of the following menu in PowerPoint includes the picture, text box, shapes, clip art ?
(a) File (b) Insert (c) Design (d) None of these
Tab that contains command to insert a watermark in MS-Word is

(a) Page layout (b) Page background (c) Design (d) Page setup
Header and Footer comes under which menu in MS-Word ?

(a) Insert (b) View (c) Format (d) Tools

Which key is used to open help window in MS-Word ?

(a) F1 (b) F2 (c) F9 (d) F11

Shortcut key used to create a new document file in MS-Word is

(a) Ctrl+S (b) Ctrl+N (c) Ctrl+F (d) Ctrl+0O

Which of the following is used to move an active cell to the first column on the current row
in MS-Excel ?

(a) Pgup (b) Ctrl + Home (c) Alt+ Home (d) Shift + Home
A graphics method in which one object is transferred into another....

(a) Animation (b) Morphing (c) Designing (d) Graphics Art
What is slide transition ?

(a) Letter

(b) Overheads
(c) Itis special effect used to introduce a slide in a slide show.
(d) None of these

By default document is printed in which mode ?

(a) Portrait (b) Landscape (c) Page Setup (d) Print View
Which of the following is used to put a chart as part of the presentation ?

(a) Edit chart (b) Smart art (c) Insert chart (d) Publish chart

In MS-Word Border and Shading is under menu.

(a) Insert (b) Format (c) View (d) Tools

In MS-Word, Auto Correct is under menu.

(a) Insert (b) Format (c) View (d) Tools

To bring up the custom cell formatting press .

(a) Ctrl+1 (b) Ctrl +2 (c) Ctrl +3 (d) Cul+4

How can you update the values of formula cells, if Auto Calculate mode of Excel is disabled ?
(a) F8 (b) F9 (c) FI10 (d) F11

The spreadsheet software is

(a) MS-Excel (b) MS-PowerPoint (¢) MS-Word (d) MS-Access
Which one of the following is DBMS ?

(a) MS-Access (b) MS-Word (c) MS-PowerPoint (d) MS-Excel

In which of the following MS-Access summarizes data in a format suitable for publishing ?

(a) Report (b) Macro (c) Module (d) Table
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Which of the following symbols activates formula bar being typed in a cell ?

(a) / (b) = © O @ ]

Which portion of the Windows keeps the information regarding installed devices ?

(a) Desktop (b) Control Panel (c) Registry (d) Hive

Which of the following key combination is used to minimize all open Windows and display ?
(a) Windows (Key) + D (b) Windows (Key) + C

(c) Windows (Key) + K (d) Windows (Key) + S

Which of the following key is used to make subscript ?

(a) Ctrl+= (b) Ctrl+D (c) Ctrl+E (d) Ctrl + Shift + +
Which of the following key combination is used to reverse the action of the Undo command

in MS-PowerPoint ?

(a) Ctrl+Y (b) Ctrl+X (c) Ctrl+Z (d) Ctrl+U
Which of the following consists of date and time on the desktop ?
(a) My Computer (b) Recycle Bin (c) Start Button (d) Task Bar
Which of the following command is used to underline a selected text ?
(a) Ctrl+U (b) Ctrl+B (c) Ctrl+C (d) Ctrl+V
Which of the following command is used to add hyperlink in a document ?
(a) Ctrl+F (b) Ctrl+K (c) Ctrl+B (d) Ctrl+V
is used to make a given string italic.
(a) Ctrl+B (b) Cul+C (c) Ctul+1 (d) Ctul+X
‘Now’ function in MS-Excel gives .
(a) Only current date (b) Only current time
(c) Current date and time (d) None of these
is used to make superscript.
(a) Cul+D (b) Ctrl+E (c) Cul+= (d) Ctrl + Shift ++
Mail Merge is available in .
(a) MS-Access (b) MS-Excel (c) MS-PowerPoint (d) MS-Word

Which of the following term is used to denote the text or image set as the background of the
main text ?

(a) Hyperlink (b) Watermark (c) Border (d) Hidden Text
Data can be found and retrieved using in MS-Access.
(a) Queries (b) Mail-Merge (c) Finds (d) Look-ups

is used to add common mathematical equations to a document of MS-Word.
(a) Alt+= (b) Alt+C (c) Alt+V (d) Alt+X
A table is in database in MS-Access.
(a) Flat (b) Relational (¢) Normal (d) Fixed

Each table in a database must include a field, that uniquely identifies each record in table
known as

(a) Secondary key (b) Normal key (c) Primary key (d) Quad key
Which option is used to set custom timing for slides in presentation ?

(a) Slider time table (b) Rehearse timing

(c) Slide show setup (d) Sliding timer
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116. Which of the following key permanently deletes a file from My Computer ?
(a) Ctrl +Delete (b) Shift + Delete (c) Ctrl+ Alt + Delete(d) Alt + Delete

117. Which of the following is the extension of Notepad file ?

(a) .txt (b) .doc (c) .bmp (d) xls
118. In Mail Merge, the file containing the database is called
(a) Record (b) Main Document (c) Field (d) Data Source
119. In MS-Word shortcut key ‘Ctrl + W’ is used for
(a) open the print dialog box (b) update the current webpage
(c) close the current open document (d) None of these
120. ‘Zip’ files are :
(a) Compressed files (b) Uncompressed files
(c) Unwanted files (d) Control files
121. Which of the following is a database object used to organize and store data in MS-Access ?
(a) Table (b) Forms (¢) Query (d) Report
122. Which of the following tool is used to create a new table in MS-Access ?
(a) Table Design view (b) Form Wizard
(¢) Query Design view (d) Report Design View
123. Which of the following is used to browse files and folders in Windows ?
(a) Task Manager (b) Control Panel
(c) Windows Explorer (d) Disk Cleanup
124. Which of the following tool is used to customize the appearance and behaviour of Windows ?
(a) Control Panel (b) Windows Explorer
(c) Personalization Setting (d) Windows Update
125. In MS-Excel output of SUMSQ (1, 2, 3) is :
(a) 12 (b) 06 (c) 10 (d) 14
126. PDF stands for
(a) Portable Document Format (b) Prior Document Format
(c) Portable Display Format (d) Prior Display Format
127. Which function provides the row number of current row in MS Excel ?
(a) Row value() (b) nrow() (c) rown() (d) row()
128. In Windows operating system, a small picture which is used to represent a program or object
is called .
(a) Thumbnail (b) Icon (c) Sketch (d) None of these
129. Which key combination is used for changing the case of the selected text in MS-Word ?
(a) Ctrl+F3 (b) Shift+ F3 (c) Alt+F3 (d) Alt+F4
130. Which of the following is absolute cell reference in MS-Excel ?
(a) Al (b) $SAl (c) SAS1 (d) AS$1
131. are virtually attractive to see patterns and trends in data.
(a) Chart (b) Formula (c) Function (d) Sort
132. The address of a cell is name followed by number is MS-Excel.

(a) Row, Column (b) Column, Row (c) File, Random (d) Random, File
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Which of the following shortcut key is used to check spellings in MS-Word ?

(a) F12 (b) F10 (c) F8 (d) F7

Which of the following is not a datatype available in MS-Access ?

(a) Image (b) Currency (c) Number (d) Text

Which key combination is used to close an application in Windows ?

(a) Cul+F4 (b) Alt+F3 (c) Shift+ F4 (d) Alt+F4
Which of the following is not present in MS-Word ?

(a) Word Count (b) Brush (c) Font size (d) Page Margin
In MS-Word, document’s margin are adjusted using —

(a) Tab (b) Indent (c) Line Space (d) Page Border
The maximum number of Rows in a MS-Excel worksheet are

(a) 65,535 (b) 10,48,576 (c) 10,608,576 (d) Unlimited
The maximum number of Columns in a worksheet in MS-Excel are

(a) 26 (b) 256 (c) 12,834 (d) 16,384
Which shortcut key is used to add a new slide in presentation ?

(a) Cul+A (b) Ctrl+C (c) Ctrl+M (d) Ctrl+D
Ellipse motion is a predefined scheme in PowerPoint.

(a) Design (b) Animation (c) Colour (d) Bullet
Themes in PowerPoint can be found under which ?

(a) Animation Tab (b) Transition Tab (c) Design Tab (d) Insert Tab
Add new computer hardware option exists in which of the following menu in Windows

System ?

(a) Task Bar (b) Main Menu (c) Control Panel (d) Status Bar
All the software installed in Windows System can be viewed from which of the following ?
(a) Start (b) Control Panel (c) My Computer (d) Recycle Bin
Power option in Windows system is available in which menu ?

(a) System (b) System and Security

(c) Security (d) File History

At which button help menu is available in Windows OS ?

(a) Start (b) End (c) Restart (d) None of these
Which of the following is not a type of MS-Access database object ?

(a) Macros (b) Table (c) Worksheet (d) Modules
Which line and paragraph spacing option is not available in MS-Word ?

(a) Before (b) After (c) In between (d) Line spacing

Which of the following is a feature of MS-Word that allows you to check the spelling and
grammar error ?

(a) Find and Replace (b) Thesaurus

(c) Auto Correct (d) Spelling & Grammar Checker

Which of the following feature is used to add a sound effect to a MS-PowerPoint presentation ?
(a) Smart Art (b) Audio Tools (c) Motion Path (d) Slicer
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forere SATRTET fireen % fopw wed T deu Ay 3UTea § 2

(a) ®’ (b) e (c) freeié (d) 3T & 1 T
e @ B |1 T -V 2eeE JTesae Sl TR TR & 2

OREIS] (b) I&A (c) Th3ie (d) TOisEE

=1 9 9 o a1 AT e SuTs Wi foshed W TH-9E | Uy A8 2

(a) To®R (b) 3THX (c) F-Taeeflm (d) S-St

=1 4 9 % 91 W vH-aE &1 U B 7, ST AT a1 3T SR i Jfet i e wE
H argEfagar g 2
(a) TE-s 9 @ (Find and Replace) (b) TEE (Thesaurus)

(c) 3T Bl (d) AT SR T S
T T -TETg=E T § &t T Siie o fore fm o | foper i 61 sy femarm st 2 2
@ SEAL  (b) SMSAGH () WETE (d) W
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PART-III
General Studies related to Uttarakhand
151. Who discovered the ‘Valley of Flowers’ ?

(a) Joseph Hooker (b) William Moorcroft
(c) Frank Smythe (d) Nain Singh Rawat

152. The deity ‘Chaumu’ is propitiated for the protection of which of the following ?
(a) Forests (b) Crops (c) Water resources (d) Livestock

153. Which of the following pairs is incorrectly matched ?
(a) Soban Singh Jeena — Indian National Congress
(b) Indramani Badoni — Uttarakhand Kranti Dal
(c) Comrade P.C. Joshi — Communist Party of India
(d) Bhagat Singh Koshyari — Bharatiya Janta Party

154. In which place the ‘Regional Ayurveda Research Centre’ is located in Uttarakhand ?

(a) Dehradun (b) Ranikhet (c) Mukteshwar (d) Chakrata
155. Jamrani dam is proposed on which river of Uttarakhand ?
(a) Kosi (b) Ramganga (¢) Gaula (d) Nayar
156. In which year Uttarakhand Government declared about the ‘Gross Environment Product
(GEP)’ ?
(a) 2018 (b) 2019 (c) 2020 (d) 2021
157. In which area of Uttarakhand ‘Kham’ system was introduced by the British Administration ?
(a) Rawain (b) Jaunpur (c) Tarai-Bhabar (d) Bhotantik Area
158. Where is the ‘Gorkha Udyar’ rock shelter located ?
(a) Dungri (Chamoli) (b) Kalsi (Dehradun)
(¢) Kimni (Chamoli) (d) Falsima (Almora)

159. What was the real name of Swami Krishna Prem, the founder of the ‘Uttar Vrindavan
Ashram’, Mirtola in district Almora ?

(a) Laurie Baker (b) Ronald Henry Nixon
(c) Alexander Phipps (d) Steven Alter
160. Who wrote the story ‘Kosi Ka Ghatwar’ ?
(a) Shailesh Matiyani (b) Pankaj Bisht
(c) Vidyasagar Nautiyal (d) Shekhar Joshi
161. Who started the newspaper ‘Garhwali’ ?
(a) Vishvambhar Dutt Chandola (b) Harish Chandola
(c) Girija Dutt Naithani (d) Tara Dutt Gairola
162. In which field Madhuri Barthwal is known for her achievements ?
(a) Painting (b) Sculpture
(c) Dramatics (d) Conservation of Folk Songs
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WHI-1T
ITEUE A T AHR HETTH
151. "ol ! 9T 1 @ fehe i ?

(a) SITE® gt (b) fafeRm qGR®Re  (c) e fen (d) f4E Tea
152, ‘<7’ o shY 3ureE fe & & fopeeh weeror 3 < I B 2
(a) o (b) ®IA (c) I & |d (d) w=IEA

153. freifend & & & @1 3w gafera T8 8§ 2
(a) O RS-y T smE (b) 35U SSH — ITEvS shifd g
(c) e H.5H. Seft — IR wgfe widl (d) WTa R SRt — W™ Sar ard

154. IT@UE | fopd TIH W ‘ST 3de My g fRa g 7

(a) <BUGH (b) THEd (c) Tehvar (d) =eRUraT
155. ST STY ITUEUE sh fhe 7 W gEdTad 8 ?

(a) <hIEl (b) TERT (c) Them (d) TR
156. IAUQUE TR 7 “Hehed GITGTT IcqTE’ o IR H =won form a9 <1 7

(a) 2018 (b) 2019 (¢) 2020 (d) 2021
157. ITUEUS o Tohd &7 1 forfesr oo g1 @™’ ugfa o] oht i off ?

(a) ToTS (b) SR (c) TS-HTeR (d) werf=eh &=

158. “TI@T 3ga/ et el fRa @ ?
(a) I (FARR)  (b) FIOE (SEU) () FRAel (FHIeAl)  (d) HorET (3TeHTS)

159. 3rcHrel et o fhaien 9 fera ‘ST g=era 3T1oM’ < HEATIh TTH! 01 I ol Arfareh 19 &1
q1 7
(a) o ot (b) Tcs & e (¢) st fbwm () WA 3Aled

160. ‘<hIE T TR HEMI o G HH & ?

(a) AAMAREA  (b) Uk fose (c) TommamrSifeaer (d) mw et
161. ATl THER-9 fhom Iy fepar
(a) Tavamm og =gren (b) = =icren
(c) T ga Aemoft (d) e e
162. m1edt sefarret fone 8 o Sroeft Suetfer o ford St STt € 7
(a) Taehen (b) Tfcihet (c) AeH (d) e Tl T TRETOT
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163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

Which one of the following pairs is incorrectly matched ?
(a) Lakshya Sen — Badminton (b) Jaspal Rana — Boxing
(c) Bachendri Pal — Mountaineering (d) Unmukt Chand — Cricket

Which is the origin of river Kosi ?
(a) Binsar (b) Pinakeshwar (¢) Dunagiri (d) Vimandeshwar

Where was the “State Vaccine Institute” established in 1903 ?
(a) Patwadangar (b) Dehradun (c) Mukteshwar (d) Lansdowne

In which year was the Wadia Institute of Himalayan Geology established ?

(a) 1960 (b) 1963 (c) 1968 (d) 1972

Which district of Uttarakhand has the lowest population according to the Census of 2011 ?
(a) Bageshwar (b) Uttarkashi (¢) Rudraprayag (d) Champawat

How many Nagar Nigams are there in Uttarakhand ?

(a) Nine (b) Four (c) Two (d) None

In terms of percentage which crop had the maximum area under cultivation in Uttarakhand
in 2020-21 ?

(a) Paddy (b) Sugarcane (c) Finger Millet (d) Wheat
Which one of the following scholars studied the ‘Pandav-Lila of Garhwal’ ?
(a) Gerald Berreman (b) Dhirendra Nath Majumdar
(c) William Sax (d) Verrier Elwin

Presently how many Development Blocks are there in Uttarakhand ?
(a) 90 (b) 95 (c) 88 (d) 85

Who among the following leaders from Uttarakhand represented the Communist Party of
India ?

(a) Vidya Sagar Nautiyal (b) Soban Singh Jeena
(c¢) Indramani Badoni (d) Gagan Singh Rajwar
Which one of the following is not an archaeological site of Uttarakhand ?
(a) Thapla (b) Ranihat (c) Dhankhal (d) Barahoti
Which one of the following pairs is incorrectly matched ?
Place Temple
(a) Pauri — Kyunkaleshwar
(b) Uttarkashi  — Vishwanath
(c) Devprayag — Kandoliya
(d) Gopeshwar — Gopinath
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163. Frerifena ® & o @1 3w gafea 721 8 7

(a) AT AT — S (b) STEUTE T — HerhalTail

(c) TSI U — THARIE (d) I =g — fohohe
164. HIH T BT ITH LA BHATE ?

(a) fomem (b) ToATRYaR (c) g (d) femmogvar
165. 1903 H “Ts Soefie Tey” sl wermfua feram mm o 2

(a) TSR (b) & (c) R (d) Haers
166. aTfea feaTerht - fasm dwem i v fra o g8 ¢

(a) 1960 (b) 1963 (c) 1968 (d) 1972
167. 2011 <l SFRTUMT o AR IAUEUE % fohar ot ot e <[aa 3 ?

(a) SHITR (b) T (c) TEIAM (d) =HTEd
168. ITUREUE H fehed TR fm & 2

(@) A (b) = © @ (d) ws oft TEf
169. 9fdsTd o STTER 2020-21 H ford wHe Sl Wt 1 ITEUS | Faifereh et o7 ?

(a) &H (b) T (c) Hegam (d) T

170. T=ifera o @ fope stq@eameRdl 3 “TTeaTel Y uTved ot o1 TeraA R g 2
(a) SRee s (b) Hg I TSmeR () Taferm dea (d) afeEr ufeam

171. IAUEE ¥ gaqH § fora fawma @ug @ 2

(a) 90 (b) 95 (c) 88 (d) 85
172. freifend ® & ITr@ve o forg T 4 R swegfee ardf w1 wfaffee fema 2

(a) Teremamm Sfeama (b) s fog S

(c) ZZHT TS (d) T T8 R
173. T=AIfRd & & 1 ITUGUE 1 JUdTicrsh T T8 & 7

(a) oTIeT (b) TorEre (c) oFEe (d) ST
174. Frerifera & & oW @1 3w gafea 721 8 7

TIH A

(a) I - R[HTATAL

(b) SAGRA - Torgamy

(c) C@Wm - helfern

(d) TR - TS
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175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

18S.

186.

Who wrote the book ‘Tum Chup Kyon Rahe Kedar’ ?

(a) Shekhar Pathak (b) Hridayesh Joshi

(c) Anil Prakash Joshi (d) Puspesh Pant

Which one of the following poets of Uttarakhand did not receive the Sahitya Academy Award ?
(a) Mangalesh Dabral (b) Liladhar Jagudi

(c) Girish Tewari ‘Girda’ (d) Viren Dangwal

Which one of the following authors have not been associated with Uttarakhand ?
(a) George Orwell (b) Ruskin Bond (c) Steven Alter (d) Bill Aitken

The first Grass Conservatory of India has been established near which town of Uttarakhand ?

(a) Roorkee (b) Pithoragarh (¢) Tanakpur (d) Ranikhet
In which district of Uttarakhand the historical ‘Ek Hathiya Naula’ is located ?
(a) Almora (b) Champawat (c) Chamoli (d) Bageshwar
Which one of the following pairs is incorrectly matched ?
Newspaper Editor
(a) Shakti — Badri Dutt Pande
(b) Karmabhumi — Bhairab Dutt Dhulia
(c) Purusharth — Manohar Pant

(d) Tarun Kumaun — Mukandi Lal

Which one of the following towns does not have the post of Mayor ?
(a) Nainital (b) Dehradun (c) Haldwani (d) Rishikesh

Which one of the following passes was not a part of Indo-Tibetan trade ?
(a) Mana (b) Untadhura (c) Niti (d) Malari

Who is the current Direct General of Uttarakhand Council for Science and Technology
(UCOST) ?

(a) Rajendra Dobhal (b) B.P. Uniyal

(c) D.P. Saklani (d) Durgesh Pant

In which district the remains of the old capital of Garhwal, Chandpurgarhi, are located ?
(a) Tehri (b) Pauri (c) Chamoli (d) Rudraprayag

In which of the following places the freedom fighters were not killed in police firing during
British rule ?

(a) Bageshwar (b) Salam (c) Deghat (d) Khumar

Which one of the following folk singers does not hail from Uttarakhand ?
(a) Heera Singh Rana (b) Malini Awasthi
(c) Kabutari Devi
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175. “TH 9 F @ HeR T&deh o o1Gh HH 8 7
(a) IE ISH (b) EAT A (c) A TR SRt (d) I v

176. ITUGUE o FATIRa iR § & fhH Teh ol ATfacd STehTaH! JhR a1 STH g7l ?
(a) FTAMSHA  (b) AR S (c) Tt faret “firel” (d) S Smarat

177. TaAifend oi@e! § 9§ forent Tray ITU@US & T8l W e ?

(a) IS AR (b) AEpA G (c) W ATt (d) foret wefer
178. R 1 TEAT HTE TV hrgy ITHRGVS o TohT TR 3 foiehe T gam @ 7

(a) &gl (b) foeiierre (c) TTRY (d) e
179. 3TAREUS o ol SYe H Ui Tk gfom fien fra 2 2

(a) IFeHIS! (b) =TT (c) =miedt (d) TR
180. Trtifere § & i @1 g gfera TE1 & 7

THER-IA HUTGH

(a) Wk —  gica e

(b) HHyH —  WE e yfer

(c) gowied - W

(d) RIFAH - bl A
181. Treifend # @ fore R H AR 1 T &1 & 7

(a) et (b) <Egd (c) gl (d) RfTha
182. fe=aifera o & 19 @1 <t W - fosaa =amam = e =€ ot ¢

(a) @ (b) Sy (c) Hifa (d) werd

183. ITREUE fos T SeTcttal! TRuG (JHRL) o T TR HhiH & ?
(a) oo (b) ot 3fema (c) SLA. &haAH  (d) gD

184. TEATe Y QU TS FTUTE! o 3ras fora forel & fra & 2

(a) fezdl (b) & (c) =mIeAt (d) FESETT
185. Tiwmifera o & forg worm w forfest s =6 S wamefivan St gford <t Mifori & sréie & gu 7
(a) SHITE (b) ATe™ (c) <HTE (d) guTe

186. Tr=iferd o & 19 <ieh T / <Aleh MR STUEIE A AR & 7
(a) EfigTom  (b) Wi steeeft (¢) e (d) e g fermet
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187. Where is the headquarters of Vivekanand Parvatiya Krishi Anusandhan Shala located ?

(a) Pauri (b) Nainital (c) Almora (d) Uttarkashi
188. In which district of Uttarakhand the ‘Nal-Damayanti Tal’ is located ?

(a) Chamoli (b) Rudraprayag (c) Nainital (d) Bageshwar
189. How many women have served as Speaker of Uttarakhand Assembly till now ?

(a) Three (b) One (c) Two (d) None of these
190. At which place is the highest herbal park in Uttarakhand being set up ?

(a) Chaukori (b) Mana (c) Munsyari (d) Dhanaulti
191. What is the length of the Rishikesh — Karnaprayag railway line under construction ?

(a) 97.6 kms (b) 112.4 kms (c) 143.6 kms (d) 125.2 kms
192. How many women were elected to Uttarakhand Assembly in 2022 election ?

(a) 9 (b) 7 (c) 8 (d) 5
193. In which place the G-20 meeting held in Uttarakhand ?

(a) Ramnagar (b) Haldwani (c) Dehradun (d) Haridwar

194. How many seats in Uttarakhand Assembly are reserved for Scheduled Tribes ?
(a) 1 (b) 3 (c) 2 (d) 4
195. How many stations are proposed in the Rishikesh-Karnaprayag railway line which is under

construction ?

(a) Eight (b) Ten (c) Twelve (d) Fourteen
196. Which of the following pairs is incorrectly matched ?

(a) Karnaprayag — Alaknanda and Bhagirathi

(b) Vishnu Prayag — Alaknanda and Dhauli Ganga

(¢) Rudraprayag — Alaknanda and Mandakini
(d) Nandprayag — Alaknanda and Nandakini

197. Gochar airstrip is located in which district ?
(a) Uttarkashi (b) Chamoli (c) Pithoragarh (d) Pauri

198. In which district of Uttarakhand the ‘Nanda Devi National Park’ is situated ?
(a) Uttarkashi (b) Tehri (¢) Chamoli (d) Champawat

199. In which Himalayan region ‘Kausani’, a tourist place is located ?
(a) Great Himalaya(b) Lesser Himalaya (c) Trans-Himalaya (d) Shivalik

200. Which of the following Commissioners of Kumaun was the relative of Governor General

Lord Dalhousie ?
(a) George William Traill (b) J.H. Batten
(c) Percy Wyndham (d) Henry Ramsay
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187. Todeh™ Ui Y STTHHTH WATWAT 1 JEATTH Hal [RId 8 ?

(a) Wl (b) ftaret (c) 3reHIET (d) STkt
188. STEUE & fopE SHUE § ‘Tei-eHa=i drel’ TR @ 7

(a) =TI (b) FZIATT (c) “fare (d) STEER
189. ITRREUE fqam a1 # 31+t oo fohat afgen srmma @ 8 7

(a) 9= (b) TH © @ (d) o8 B g T
190. ITGUS 1 HoH SATST ST ITcA Bocd UTeh fohd T T EA1Ud fpn @1 8 7

(a) wenIEt (b) =T (c) TFE (d) et

191. KiI-amoigT Fmfonefia Ioe A 61 o fhadi 2 ?
(a) 97.6 foptft (b) 112.4 et (c) 143.6 fermt (d) 125.2 fereft

192. 2022 % g H fepat wfgetd 3aravs faem g # fraffaq g 2

(a) 9 (b) 7 (c) 8 (d) 5
193. ITEE H G-20 <l 93 fohd A W ES ?

(a) THTR (b) gl (c) <& (d) BRER
194. ITREUE e | & rgyfaa st o ford foraa g smfaa & 2

(a) 1 (b) 3 (c) 2 (d) 4
195. FhIT-HoTg=mT Totd g st fawtonefia 8, o fhas wem yearfaa 8 2

(a) 378 (b) & (c) 9N (d) =iteg

196. Frerifera ® & o @1 3w gafea T2 8 7
(a) THUTIATT — 3TeAehgl AT HHTReft (b) TSUTSRITT — TeTeh-igT e Gt

(c) TEIATT — ITAHACT AUT HETfhT (d) TSN — JTeThHel AT TThe1
197. TR 4TS gt fohm oot o fra 2 7

(a) e (b) =i (c) Tueiirme (d) Wl
198. STRGVE o fohd UG | a1 <t TP Su’ fua @ 2

(a) ST (b) fesdt (c) =mreft (d) =red

199. Tora feaTeram e | ‘SiE, T ek e fRm 3 2

(a) Wem fearera (b)Y femre™ (c) or-4 femmer (d) frarferen
200. FUT, o IR HHTHRT H D, T T TS SeTarsi b Traweft o1 ?

(a) WIS foferam 3t (b) 904, S (c) THT faem (d) T
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